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QUESTION 1

Which statement is true when selecting a microservices runtime platform?

A. A DevOps capability is not necessary, as microservices are inherently independent and loosely coupled

B. Infrastructure as a Service (laaS) platforms abstract and remove operating system dependencies.

C. A microservices oriented Platform as a Service (PaaS) enforces that all microservices are scaled together.

D. An ideal Platform as a Service (PaaS) provides the necessary capabilities and building blocks to associate metadata,
policies, and correlate inter-service calls.

Correct Answer: A

QUESTION 2

What does the Twelve Factor App methodology define a \\'backing service\\' as?

A. Any service that is contained within the application to manage state.

B. Any service the application consumes over the network as part of its normal operation.

C. Any service that is disposable, meaning it can be started or stopped at a moment\\'s notice.

D. Any resource managed by the same systems administrators as the applications runtime deploy.

Correct Answer: B

QUESTION 3

Why would a developer choose to use the Kafka API rather than the Kafta REST or MQ Light APIs?
A. The developer is familiar with AMQP messaging

B. The Kafka API is simple to use in basic functional testing.

C. It offers lower latency and higher throughput.

D. The developer wants to read data from a topic using a SQL-like query language.

Correct Answer: D

QUESTION 4
When would a developer choose to integrate a Compose for Elastic search service into their application?

A. The application requires data to be stored in filexible documents
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B. The application requires rich data analysis on large volumes of data;
C. The application requires data to be replicated across multiple copies.
D. The application requires strong relational consistency across data tables.

Correct Answer: B

QUESTION 5

What is a benefit of using the IBM Cloud App ID?

A. Adds authentication to mobile and web applications

B. Fixes broken user|Ds that are used to access mobile applications

C. Generates passwords for userlDs that are used to authenticate mobile and web applications

D. Provides a password vault to store userlDs and passwords that are used to access mobile and web applications

Correct Answer: A
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